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(English Version)

Note: (i) -Youmust write the subject-code / paper-code 065 in the box provided on the title
page of your answer-book.
(ii) Make sure that the answer-book contains 28 pages (mcludmg title page) and
are properly serialled as soon as you receive it.
(iii) Question/s attempted after leaving blank page/s in the answer-book would not
be evaluated.
(iv) No extra sheet will be given, so write to the point. Do not strike the written
answer. '
(v)  Draw a line at the end of each question.
(vi) The question paper is divided into three parts:
Part-1I: This section has four questions. All questions are.compulsory.
Q. No. 1 : It has eight sub-parts. It consists of eight ‘Multiple Choice Questions’
of one mark each. p
Q. No. 2 : It has eLght sub-parts It consists of eight ‘Fill in the Blanks’
questions of one mark each. ~
Q. No. 3 : It has eight sub-parts. It consists of eight ‘True/False statement’
questions of one mark each.
Q. No. 4 : It has four sub-parts. It consists of four ‘Match the Column’
questions of one mark each.
Part-I1 : There are eleven questions of two marks each. Answer each question
in about one-two sentences. All questions are compulsory.
Part-III : This part h(.zs four questions of five marks each. Answer each
question in about five-six sentences. These questions have 100% internal
choice.
Part-I
1. Choose the correct answers to the following Multiple Choice Questions 3 8x1=8
(i) Which of the following is organic manure ? 1
(a) Farmyard manure % ¢ (b) Green manure
(¢) Compost manure ((y All of these
(ii) ‘Matar Ageta-6’ is an improved variety.of which vegetable ? 1
(a) Radish (bp Peas /(é\ Carrot @) Tﬁi’nip
065-SS 8 3
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(iii) Which is the largest 1mportant organ in the stomach of ruminant

animals ? B '} v 1
(a)_ Heart. (b) Kidney (c) Lung {d%.; Rumen
(iv) What colour eggs -does the wh1te leghorn hen lay ? _‘ g “ : 1
(a) - Vxh{te ( Red’} o (¢) Brown (d) Black
) | Wh1ch isa monocotyledon plant ? 1
(&), Gram ®), Maize Y0 Peas @ Moong
1

(vi) What is the male part of' ﬂower called ?
(a) Ovary % Pollen Tube s

(¢) Stamen : l\% Stlgn/ Ex.
LR "$ 1':

(vii) Homo sap1ens is the scientific name of :

(a) Lion ' '\ (b) ~Elephant
(c) Deer 4!1) Human
(viii) What are honey bees mamly reared to obtam i : Wy 1
@ Honey ' 7 () Milk e
(¢) Meat (d) Eggs

2.  Fill in the following spaces by selectmg the correct word from the brackets 8x1=8
() Wheat is a crop. (RabllKhanf) 1

(ii) Umran is an improved varietyof (Réésll/li’er)k/;/é 1

(iii)  Holstein Friesian is a breed ef cow. (FOI‘elg'n}Ind} (};_.nous) 1
(iv) Bird flu disease occursin __. . (Chicken/Fishes) 1
V) After fertilization, the flower is eonverted to W80, (StM) 1
(vi) Plants are . objects. (Non-living/Living) A L 7
(vii) The main reepiratory organs in rabbits are | (Luig dneys) 1
(viii) Insects:"have pairs of legs. (Ten/Three) _ 1
-9 [Turn over
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3.  Choose True/False from the following statements :
1) Loamy soil is considered best for agriculturely - .‘
(i)  Gulli-danda (Phalaris minor) weed grows in paddy crop:‘_',f (X)’L\*ﬁ
(iii)) New grape plants are prepared by sowing cuttings. /7( ?}M
(iv)  Chickens are raised for meat and eggs.m. /)
(v)  Dairy farming is the best among agriculture-based enterprises‘.’ro\ A
(vi)  The pickle of green fodder is called silage. @ée
(vii) Cows and buffaloes are mammals. /'\.J‘\\Q
(viii) The blood of 1nsects is green in colour ?M
N

4, Match the column :

(i) Nitrogenous fertilizers ) Camel l/ Kty

(i) Average gestation‘period of buffak ) Make food for plants

(iii) Main function of leav ) 310 days

(iv) Ship of the dese

Part-II

Answer the following questions in one or two sentences :

Write the names of any four pests which damage crops.
Write the names of any four improved varieties of tomato.
Write any two advantages of phosphorus to plants.

Write the names of any two paddy-based crop rotation.

ent S R

Write the names of any four products that can be prepared from milk.
10. Write any two signs of a cow that is in heat. A

11.  Write the némes of any four birds reared in poultry farming.

12, Wnte any two reasons for law egg pI‘OduCthIl in hens.

13. Wthh are the two modifications, of leaves ? s

14.  Which are the two main stages of photosynthesis ?

15. Write the names of any four parts of the rabbit’s respiratory sy Ste?ﬁ'

065-SS 10
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Part-I11 AT

Answer the following questions in five-six sentences : LR 4x5=20

16. Write any five differences between organic fertilizers and chemical fertilizers. 5
OR ' k]

Give a brief description of maize cultivation as follows : Sl s 5

(i) Two improved varieties
(ii) Seed Rate

(iii) Time of sowing

(iv) Yield

(v) Harvesting

17. Write any five main tips for a successful dairy farming business. o 5
‘ oR ,
Write any five things to be kept in mind while buying baby chicks. . 5
18. Write any five economic importances of plants of Gramineae family. . . 5
OR - 44
Write any five differences between aerobic and anaerobic respiration. 5
19. Write any five characteristics of phylum Protozoa. 5
OR
Write any five benefits of dead animals. E
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(English Version)

Note: (i)  You must write the subject-code/paper-code 065 in the box provided on the title
page of your answer-book.
(ii) Make sure that the answer-book contains 28 pages (including title page) and
are properly serialled as soon as you receive it.
(iii) Question/s attempted after leaving blank page/s in the answer-book would not
be evaluated,
(tv) No extra sheet will be given, so write to the point. Do not strike the written
answer.
(v)  Draw a line at the end of each question.
(vi) The question paper is divided into three parts :
Part-I: This section has four questions. All questions are compulsory.
Q. No. 1: It has eight sub-parts. It consists of eight ‘Multiple Choice Questions’
of one mark each.
Q. No. 2 : It has eight sub-parts. It consists of eight ‘Fill in the Blanks’
questions of one mark each.
Q. No. 3 : It has eight sub-parts. It consists of eight ‘Truel/False statement’
questions of one mark each.
Q. No. 4 : It has four sub-parts. It consists of four ‘Match the Column’
questions of one mark each.
Part-II : Ther_e are eleven questions of two marks each, Answer each question
in about one-two sentences. All questions are compulsory. ‘
Part-III : This part has four questions of five marks each. Answer each
question in about five-six sentences. These questions have 100% internal
choice.
Part-1
1. Choose the correct answers to the following Multiple Choice Questions : 8x1=8
(i) Which of the following is organic manure ? 4 : 1
(a) Farmyard manure (b)  Green manure
(¢) Compost manure (d) All of these
(i) ‘Matar Ageta-6’is an improved variety of which vegetable ? 1
(a) Radish (b) Peas ' ~ (© Carrot (d) Turnip
065-SS 8



(iii) Which is the largest important organ in the stomach of ruminant

animals ? ‘ 1
(a) Hea'rt (b) Kidney (¢) Lung Qd)/ Rumen
(iv) What colour eggs does the white leghorn hen lay ? 1
&V)/Whlte (b) Red (¢) Brown (d) Black
v) W}uch 1s a monocotyledon plant ? d
(a) Gram (b) Maize (¢) Peas }df)/ Moong
(vi) What is the male part of flower called ? ' 1
(a) Ovary (b) Pollen Tube
2!
(c) Stamen l 1%l Stigma
(vii) ‘Homo sapiens is the scientific nanie of : X 1
»(a)" Lion ! (b) Elephant
(¢) Deer < @/ Human
(viii) What are honey bees mainly reared to ¢btain'? 1
/(a")/ Honey () Mik |
(© Meat (d) Eggs
2.  Fill in the following spaces by selecting the correct word from the brackets : 8x1=8
) Wheatisa_ o111t crop; (REbyKhasit , 1
(i) Umran is an improved variety of = - (Radish/Be/r) 1
(iii)  Holstein Friesianisa________ breed of cow. (Foreign/Indigenous) 1
@iv) Bird flu disease occursin __ -~ | (Chicken/Fishes) 1
) After fertilization, the flower is converted to _ .~ (Stem/F'(t) I,
(vi) Plants are objects. (Non-living/Li,Kg) | 1
(vii)  The main respiratory organs in rabbits are — . (Isings/Kidneys) 1
(viii) . Insectshave __ pairs of legs. (Ten/’[‘l’@ 1

065-SS 9 [Turn o_Ver



PRADEEF IVIA I FMEIVIA L 1L e
8X1=8

Choose True/False from the following statements : :

3.
(1) Loamy soil is considered best for agriculture. C
(i)  Gulli danda (Phalaris minor) weed grows in paddy crop- = :
(iii) New grape plants are prepared by sowing cuttings. 7 " !
(iv)  Chickens are raised for meat and eggs. 7 h :
(v)  Dairy farming is the best among agriculture-based enterprises.f 1
(vi) The pickie of green fodder is called silage. — I
(vii) Cows and buffaloes are mammals. I
(viii) The blood of insects is green in colour. [ 1
4.  Match the column : * T AEETY T Sl 4xI=4
(i) Nitrogenous fertilizersg - (a) Camel . 1 1
(ii) Average gestation perioci 6f buffgllqg> (b) Make food for plants ‘ 1
(iii) Main function of leaves N ) & (c)  310days 1
(iv) Ship of the desert | @ Urea and Ammonium Sulphate 1 |
Part-I1
Answer the following questions in one or two sentences : 11x2=22
(5./ Write the names of any four pests which damage crops.’ 2
6. Write the names of any four improved varieties of tomato. 2
/ Write any two advaptages of phosphorus to plants. 2
. 8.  Write the names of any two paddy-based crop rotation. 2
}/ Write the names of any four products that can be preparéd ffom milk 2
10. Write any two signs of a cow that is in heat. 2
(1/1./ Write the names of any four birds reared in poultry farming. 2
12. Write any two reasons for‘lovy egg production in hens. 2
13. Which are the t.wo modifications of leaves ? 9
14. Which are the two main stages of photosynthesis ? 2
2

/rﬂVrite the names of any four parts of the rabbit’s respiratory system
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Part-IIT

Answer the following questions in, five-six sentences :

4x5=20
16. Write any five differences between organic fertilizers and chemical fertilizers. 5
OR
Give a brief description of maize cultivation as follows : 5
(1) Two improved varieties
(ii) Seed Rate
(iii) Time of sowing
(iv) Yield
(v) Harvesting
17.  Write any five main tips for a successful dairy farming business. gty 5
OR
Write any five things to be kept in mind while buying baby chicks. 5
18. Write any five economic importances of plants of Gramineae family. 5
OR
Write any five differences between aerobic and anaerobic respiration. 5
19. Write any five characteristics of phylum Protozoa. 5
OR
Write any five benefits of dead animals. , 5

1
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